Pemenue

3CH: mU; = Mu + mU,
MuZ =

3C3: —= Mgl(1 — cos a)}

I cosa; = 61.

| cosay = 31.

1 1 p2_p2
P=a_bV, AP=bAV, VZ_V1=E(P1_P2);A12=E(P1+P2)(V2_V1)= 12b2.
| A12] = BMI[)K
“ AlZII = SMH)K
mCBACB + mCBCCBtZ = Amﬂ d m}l = mCB(AC;+CCBt2); I/J'I = %' VB = %’
— _ My _ _ _ _ % mCB(ACB+CCBt2) i _ i
Vegos =V Des Vi—-V=V Pes + i (pn PB).
| VCBOGI = 34CM3.
I Vesosy; = 47cM.
3 i P=1IR, = (L)ZR (1)
aMKHYTHIR kMo P = IRy = (= 1
2
PasomknyThIi kimtou P = I2(R; + R,) = (T+R£+R ) (R, +R,) )
1 2
[€3) Ry _ Ry+R, _ \/7
@ (r+R1)?  T+R1+R, =1 =yRi(R +Ry)
| = 6 OM.
| = 12 Om.
%+% = % - f= —nFTl < 0; MHuUMOE ¢ yBenuueHuem I' = —% = g.
I FI = _2




